1.)  Previously we have discussed the electrophilic aromatic substitution reaction for benzene.  What other type of reaction is observed for benzene?
2.)  Explain why aryl halides do not undergo SN1 reactions.

3.) Explain why aryl halides do not undergo SN2 reactions.

4.) What are the two possible mechanisms for nucleophilic aromatic substitution?

5.)                                                     only occurs when there are                              substituents in the                                                        position. 

6.) What is the intermediate formed in the addition elimination mechanism?

7.)                                            occurs when there are no electron withdrawing substituents on the ring.  This mechanism is                  like and goes through a                      intermediate.  

1.) Determine the product of the following reaction.  Show the mechanism including all resonance structures for the intermediate.  
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2.)  Determine the product of the following reaction.  Show the mechanism.
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3.)  Synthesize the following compounds from benzene.

a.)  p-bromobenzoic acid

b.) 4-chloro-1-nitro-2-propylbenzene

c.) m-chloronitrobenzene

d.) p-chloropropylbenzene

e.) m-chloroethylbenzene

f.) 2,4,6-trinitrobenzoic acid

g.) m-bromoaniline

4.)  Identify the reagents responsible for each of the following transformations.
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